TERX A A O#EET FR(H1805).xls

X £ TEX4 5 = H HEH
FREHX BLETHT 60 52 112 49
FRE#X L {chET 21 24 45 18
FREHKX {rhET 19 21 40 16
FRHE#X ABT—TH 15 19 34 15
FHREHX ABTZTH 21 22 43 13
FRHE#X ABT=-mTH 25 29 54 24
FREHKX 3ET 30 32 62 28
FRE#X S HT 49 51 100 42
FHREMX JCHT 50 77 127 51
FRHEHKX STHT 40 49 89 37
FHREMX ZAHHET 24 25 49 18
FRHE#X SEEMET 26 26 52 25
FHREMX T FHET 47 54 101 40
FRHEHKX L FHT 58 63 121 53
FHREMX JEHT 64 67 131 61
FRE#X LTEE 32 45 77 32
FREHKX FRAEET 23 34 57 32
FRHE#X fin = ET 67 93 160 71
FHREMX N 387 443 830 346
FRHE#X THRE 120 144 264 116
FHREHX fEA 80 114 194 88
FRHE#X i E 773 834 1,607 595
FHREMX I 103 122 225 75
FHE#X B 59 67 126 46
FHE#X RBETRAR 322 329 651 215
FHE#X FRHET 408 530 938 324
FHREHX & AT 61 76 137 57
FRHEHKX L/ 462 501 963 286

FREMXET 3,446 3,943 7,389 2,773

HEHX AREETARZER 298 329 627 215
HERX KPR 103 119 222 70
HEHX & 139 138 277 86
HWEHX BE 108 143 251 77
HEHX HhE 94 121 215 87
WEHX s 18 17 35 11
HERXET 760 867 1,627 546

KiFHh X ] 482 568 1,050 428
KiFih X 0 3BT 191 256 447 168
KiFih X =k 366 381 747 274
KiFih X KL 70 90 160 47
KiFHh X EEEF 72 75 147 50
KiFih X ItHE 160 167 327 99
KT ih X ThaE 180 159 339 90
RiFh X R EET 134 153 287 114
KiFih X 7MLF 187 196 383 148
KiFih X REBF 287 376 663 294
KiFHh X AR 398 447 845 377
RiFih X HERER 6 46 52 52
KiFih X AHEYDE 94 110 204 59
RiFih X HIUVHLE 510 562 1,072 352
Kifih X 22Ul R 300 321 621 180
K13 X G550 0VFEY 5 16 21 21
KiEEHh X 51 3,442 3,923 7,365 2,753
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X4 TEX4 E) £ H HEH
SfEHX FXRET1X 40 57 97 50
IITEHX FTRET2X 415 451 866 361
SfEHX FRETIX 223 219 442 181
IITEHX IMfEE—TH 251 362 613 261
e X MEEZTH 270 309 579 220
IITEHX MfEE=TH 482 485 967 350
STTEHEX IAEAEMTH 132 195 327 134
SL{EHMX = THT 354 364 718 282
SLfEHX 3] 259 294 553 222
IITEHX ol d e 642 677 1,319 473
SfEHX FTRETh HhE 131 149 280 129

S AEH X ET 3,199 3,562 6,761 2,663

KIIPIET P=E 86 93 179 50
KINAHET INER 70 79 149 50
KJIINET i 242 258 500 183
KINAHET i 49 53 102 46
KIIPIHET KINALL 115 126 241 73
KINAHET Napabil 73 88 161 53
KIPIHET = H 129 132 261 82
KIINPHET 25 137 134 271 85
KIIPIHET TE 209 229 438 156
KIIPHET BIZIE] 37 61 98 98
RINAETET 1,147 1,253 2,400 876

28T f=H 54 52 106 30
28T P 37 40 77 17
2 )IET Fia 34 33 67 15
2 )IET KEJ| 112 141 253 76
21187 By 58 70 128 42
£)IET 15E 185 193 378 135
2JIET INEI 144 160 304 107
21187 M:ba) 151 158 309 106
2JIET 2i8 47 44 91 38
2)I1ET IR 74 91 165 50
28T K 28 36 64 22
2187 - Eag 24 20 44 11
2)I|/T hvA=! 45 35 80 18
28T ZH 49 61 110 23
28T B 37 35 72 20
£)IET VeIl 132 139 271 64
=) HT RE 54 63 117 26
2187 BEFH 91 113 204 54
2T 2 ¥ i 345 213 558 284
2)1ET HFEWER 5 36 41 41
£ )I1BTE 1,706 1,733 3,439 1,179
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X £ TEX4 5 = H HEH

K % 2 HT Kiz 122 137 259 67
K % 2 HET Bth 11 12 23 10
K % EET GEii 122 124 246 67
K % 2 HET HEE 64 72 136 40
K % EET B 52 44 96 23
K % 2 HET TN 74 79 153 34
K % EET EEIRE 43 44 87 20
K % 2 HET =e]il] 71 66 137 38
K% EET puipEs 59 69 128 39
K % 2 HET Ei 120 125 245 62
K % 2 HET EE 86 64 150 39
K % 2 HET B8R 63 67 130 36
K % EET Pus 106 89 195 51
K % EET b 390 432 822 260
%IRRT ET 1,383 1,424 2,807 786

BREL =11l 53 53 106 25
R ZHT THE 147 142 289 75
BREL KINE 136 129 265 66
R Z HT INER 63 60 123 29
FR ZHT FFET 80 106 186 50
R ZHT FFE L 168 176 344 93
R Z BT [REE 181 197 378 93
R S HT HFH 247 246 493 139
R Z BT =i 66 78 144 37
R ZHT Bih 1 1 2 1
IR Z BT pN:i 51 62 113 31
R ZHT K& 86 84 170 46
IR Z BT HE 72 68 140 27
R ZHT a0 54 59 113 24
PR 2 BT ERiS 76 86 162 36
R:ELIES 1,481 1,547 3,028 772

KIIET B/ 179 216 395 144
KJIET A 67 74 141 58
KINET FRII 109 115 224 67
KJIET HF0O 124 132 256 53
KINET £ 99 122 221 63
KJIET 1] 118 119 237 70
KIJIET HOAE 1 1 2 1
KJIET Eqng 177 184 361 101
KIJIET 371 252 270 522 181
KJIET wa 103 125 228 63
KIJIET RHAX 71 66 137 41
KJIET JIR 123 109 232 75
KINETET 1,423 1,533 2,956 917
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X £ T 4 5 = i HEH
NI %) 131 148 279 88
FAFET LR 68 63 131 38
NI T& 252 299 551 181
¥ ET T 88 93 181 63
T 7%= 50 49 99 32
NI EiR 76 85 161 48
NI b2l 103 96 199 58
NI &I 131 130 261 70
NI ABRK 44 37 81 28
NI =V 108 131 239 79
NI 5 111 130 241 74
UL = oB::] 97 103 200 66
N Eoga)ld 62 63 125 43

AHETE 1,321 1,427 2,748 868

—EHr B/I\AH 634 735 1,369 547
ZBH I\ 254 260 514 197
—EHr JNE 832 913 1,745 669
BT KE 505 525 1,030 369
—EHr s 107 114 221 88
Z BT ADE5 116 144 260 95
—EHr R 187 239 426 157
Z BT EHF 103 124 227 78
—BHr fH 76 101 177 64
Z BT =5 57 68 125 40
—EBH A 74 81 155 50
— BT mF 44 44 88 34
Z—BETE 2,989 3,348 6,337 2,388

B ET g 574 604 1,178 435
BILACET f=#0 75 68 143 54
BILACET RE 927 936 1,863 703
BILACHET HE 70 80 150 47
BILACET X fH 68 68 136 56
BILACET ko 198 222 420 129
B ET SEIA 169 202 371 131
BILACET HAAR 106 99 205 73
BILACET RAR 229 229 458 164
BILACHET e 178 216 394 175
BILACET ER 71 89 160 73
B ILAHET T& 16 15 31 10
BILACET )N 123 113 236 81
BILAHET TnE 10 12 22 9
BILACET NNRAEF 115 127 242 72
BILACET H 6 6 12 7
B ILCETE 2,935 3,086 6,021 2,219
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X% TEX4 5 = H HEH
LA ET RAE 261 303 564 242
L ACHET A 501 527 1,028 405
L ACET =INA 67 73 140 48
LA HET b4 95 105 200 65
[t BT 23 66 63 129 52
L ET Bea 153 176 329 144
LA ET AR—RX 266 294 560 193
L ET ABR—K 414 446 860 351
LT AR=ZX 150 180 330 125
L ET S 192 215 407 178
LT NN 119 150 269 129
L ET s 140 142 282 101
L4 ET M 163 172 335 160
L ET [ikz) 134 140 274 86
LA ET BRAR 52 49 101 35
L ET ¥ 2 58 50 52 102 28
LA ET %) 76 73 149 47

I ETET 2,899 3,160 6,059 2,389
#ET 28,131 30,806 58937 21,129
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